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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) STt Hevey 39 URE-93 9 A1 A foig |

Candidates must write first his / her Roll No. on the question paper compulsorily.

(2) | U FH AEE E |

All the questions are compulsory.
(3) VS U9 I TR T TE IR-YeTshl § &t ford |
Write the answer to each question in the given answer-book only.
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(4) 59 U9 § e @Us €, 39 947 & 3T U 919 & o |

For questions having more than one part, the answers to those parts are to be written

together in continuity.

(5) V-9 & el 9 ST TR § fhdl WehR bl Jfe / ofaw / fatemyra g9 oX &=t 9 & e
& WE A |
If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

(6) WmT U9 ST 3 U U9
3T 1-10 1
E 11-15 2
g9 16 - 25 3
T 26 -30 6
Part Question Marks per
Nos. Question
A 1-10 1
B 11-15 2
C 16 - 25 3
D 26 -30 6

(7) 99T shHieH 27 & 30 | 3T fosheq € |
There are internal choices in Q. No. 27 and 30.

(8) ST SRR % J=&f & AN 3R fAGw | A T I% HF HAT &1, A ST b AT
TR I Y 3R T (st Al & Hleshe 37 W Th i fo@ |

Write on both sides of the pages of your answer-book. If any rough work is to be done, do

it on last pages of the answer-book and cross with slant lines and write ‘Rough Work’ on

them.

(9) TR SHHTH 26 FH FA@MET UTF TR I I |

Draw the graph of Question No. 26 on graph paper.
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T - A
PART - A

1. = quries Gemet s HCF a LCM SHST: 12 3R 336 €, 3 Ush quiieh 48 &, o SR quTish J1d
It |

HCF and LCM of two integers are 12 and 336 respectively. If one integer is 48, then find

another integer.

2. AP.:13,8.3, ... % UAH 20 TSI 1 TN [T HIFST |

Find the sum of the first 20 terms of the A.P. : 13,8, 3, .....

17
3. qﬁcosecAzg’ﬁ}tanAWﬂWQﬁﬁ%ﬁW |

If cosec A = ? then calculate tan A.

4. A % TARIOTHA™ SFU sin A Fi cot A & U&T | fAf@ |

Write the trigonometric ratio of sin A in terms of cot A.

5. O S GEeT Bt ot S HiiEehran 1 S 9 ;16 &, A 7ok &helt w1 ST T iy |

If the ratio of corresponding medians of two similar triangles are 9 : 16, then find the

ratio of their areas.
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6. UH a5 Q ¥ UH I W TI-IGT &l oT=E 15 cm T2 Q 5 | U 17 em €, A I i B
A HINT |

From a point Q, the length of the tangent to a circle is 15 cm and the distance of Q from

the centre of circle is 17 cm, then find the radius of the circle.

7.5 cm 59 % U g9 W U 31 WRI-IE Gitgy, SRS 70° % 0T T I & |

Draw a pair of tangents to a circle of radius 5 cm which are inclined to each other at an

angle of 70°.

8. I U I i URTY Y &itheT HEATHS & H SRR &, A1 3T I i B3 1 BT |

If the circumference and the area of a circle are numerically equal, then find the radius of

the circle.

9. UH IA h AGAT T SAHET I HINTT STaeh! IR 44 cm & |

Find the area of a quadrant of a circle whose circumference is 44 cm.

10. =g “E & =l wifehdr = 0.95 &, df P(E) T1d ity |
If probability of “not E” = 0.95, then find P(E).
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PART - B

11. 537 (4, 5), (7, 6), (4, 3), (1, 2) §RT T ATl TS HT THR AT |

Name the type of quadrilateral formed by the points (4, 5), (7, 6), (4, 3), (1, 2).

12. I SO Ueh GRI 3THTI o TR T & | 3TEIe! o1 &1 14 cm € | 39 S 6l R J&

AHA I HIST |

A vessel is in the form of a hollow hemisphere. The diameter of the hemisphere is 14 cm.

Find inner surface area of the vessel.

13. TeAfafiad de Uk Higoet o s=di & Sk S @< 90T & -

e A W= (T H) 10-20 [ 20-30 | 30-40 |40-50 |50-60

F=al B G 3 5 4 7 6

Teh ST fael 1 WA S U HTed S i Gl ;T ity |

The following distribution shows the daily pocket allowance of children of a locality.

Daily pocket allowance (in %) 10-20 | 20-30 30-40 | 40-50 | 50-60

Number of Children 3 5 4 7 6

Find the mean daily pocket allowance by using appropriate method.
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14, THHR A TH ¥ B ©H W 260 fFH g 65 fohi/guer gam miq & @t 13 8¢ A1 =t
IR A § | ARI AR % SR T g fet W 4 e, g faee w7 e, de fame
W 10 e o ed TR oRed faeet W 40 T Thdt € | T B 9% UgeH O g Pt fohaT
A T 2 SR T fafy & gt Hif |

A car travels 260 km distance from a place A to place B, at a uniform speed 65 km/hr
passes through all thirteen green traffic signals, 4 minutes at first signal, 7 minutes at
second signal, 10 minutes at third signal and so on stops for 40 minutes at thirteenth
signal. How much total time it takes to reach at the place B ? Solve by suitable

Mathematical Method.

15. U 9G¥ o a9l W I e & T CCTV 87 o & | ST 9ied & 909 & 113 Hiel
R e @1 9% AAEE @ ThaT € | A Tt o IR 3R T8 HIRT 39424 FHR AEE 3G
HehdT €, A1 Tt Sl TS I BT |

For traffic control, a CCTV camera is fixed on a straight and vertical pole. The camera
can see 113 m distance straight line from the top. If the area visible by the camera around

the pole is 39424 m?, then find the height of the pole.

T -9
PART -C

16. Tag I fof 3 Tk erafieg @ € |

Prove that \/§ is an irrational number.

17. x3—6x2+ 11x— 6l x — 2 T AN AT 317 TS TS i Tl H AT ST |

Divide x3 — 6x2 + 11x — 6 by x — 2, and verify the division algorithm.
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18, 2ralt. Wi & fefar =ier o | 720 S, T B a9 H 1080 ;. W B IRA FA & | TE
A §U o e o S | Uhaq ®9 ¥ U Hived 9 § gig gidt €, o Wd 9 st § pot

SIS T HifTT |

A manufacturer of TV set produced 720 sets in fourth year and 1080 sets in the sixth
year. Assuming that the production increases uniformly by a fixed number every year,

then find total production in first 9 years.

19. 3t 3 W U Ug & STl € 3R 22T g7 AT 39 e qg A € o U o ey /A &t 29
AT & 3T 3HF W 60° H BV SHIAT & | U F U-fawg i g, STl Ug I FRaw STH= i g
2.3 m¢e | UE & S I HIT |

A tree breaks due to storm and the broken part bends so that the top of the tree touches
the ground making an angle 60° with it. The distance between the foot of the tree to the

point where the top touches the ground is 3 m. Find the height of the tree.

20. Tog i o fordt sy forg @ fopelt g W) @il 1€ Tel-3anet o ot s shior et fegent ot
THET aTet Y@MEve 5T 3w UX 37AR T T YL Bl & |

Prove that the angle between the two tangents drawn from an external point to a circle is
supplementary to the angle subtended by the line-segment joining the points of contact at

the centre.

21. 5 cm 9 1 UH g9 WA 1 FF 9 13 om R T U O ¥ g9 W w9-3@n i B
FITTT T STt gl AT | TReper d & HT St S o HifT |

Draw a circle of radius 5 cm. From a point 13 cm away from its centre, construct the pair
of tangents to the circle and measure their length. Also verify the measurement by actual

calculation.
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22.

23.

24.

25.

8

TF g & AT H5 W 60° HT HIT AR A ¢ | A TTF o7 BT W &l &%t 231 cm?
&, o o =l B S i

If an arc of a circle subtends an angle of 60° at the centre and if the area of minor sector

is 231 cm?, then find the radius of the circle.

7 m S I TH F3T @ET A1 € 3R @i F et g2 el B gHE 0 F hole)
22 m x 14 m x 2.5 m 9TeT U G ST 17§ | F D TS AT BT |

A well of diameter 7 m is dug and earth from digging is evenly spread out to form a

platform 22 m X 14 m X 2.5 m. Find the depth of the well.

FrAfefad 3iehg, 200 fosTell STFOT & UfeTd Stia et (F21 o) bl o 3d € -

T HTe (et H) 40-60 | 60-80 |80-100 | 100-120 | 120-140 | 140-160

ARIRAT 25 38 65 24 31 17

SUSHRUT T FEeTH SHa el T HINTT |

The following data gives the information on the observed life times (in hours) of 200

electrical components.

Life times (in hours) 40-60 | 60-80 | 80-100 | 100-120 | 120-140 | 140-160

Frequency 25 38 65 24 31 17

Determine the modal lifetimes of the components.

TF fost T 7 6T i, 10 6 9 3R 5 & Hd € | 39 oo § F U Sl AgesdT FHebret ST
T | SHD! TRkl SR ¢ T THepTeAT T Sl (i) et =18 € 2 (i) T%E & 2 (iii) B0 € 2

A box contains 7 red marbles, 10 white marbles and 5 green marbles. One marble is

taken out of the box at random. What is the probability that the marble taken out will be

(1) not red ? (i1) white ? (ii1) green ?
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27.

28.

9
HAT-F
PART -D

7 &g 3R 5 ufgelt 1 Pl G T 58 §, STaih 5 W 3R 6 el o FA oA T 56 € 1 W
TS I ST ®9 T Fed B TR 9 & i |

The cost of 7 erasers and 5 pencils is ¥ 58 and the cost of 5 erasers and 6 pencils is I 56.

Formulate this problem algebrically and solve it graphically.

Teh ITTE! Thad o1ed ¥ 300 km & 53 97 el & | 3fg 7 9t 10 km/h 31fuss gidt, df o
I IR H 1 GO HH TET Il | {OWTS! i =rel T iy |

A train travels 300 km at a uniform speed. If the speed had been 10 km/h more, it would

have take 1 hour less for the same journey. Find the speed of the train.

JFuar/OR

TS STIAThR T T [ohuT ST SIS ST F 25 WY, 31k ofal & | 35 TSt o7 SISt o7 4§ 23
|, 3Afees &1, f T e 1 i |

The diagonal of a rectangular field is 25 metres more than the shorter side. If longer side

18 23 metres more than the shorter side, find the sides of the field.

(i) (1 +tan 0 + sec 0) (1 + cot O — cosec §) T T T HIT |

Evaluate, (1 + tan 0 + sec 0) (1 + cot 8 — cosec 0).

tanA—sinA_secA—l
tan A +sin A~ sec A+ 1

(i) o wifeTe o,

tanA—sinA_secA—l
‘tan A+sin A sec A+ 1

Prove that
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29. 3T TRIST &1 SHeT T HINTT e 39 (=3, —2), (5, —2) 3R (5, 4) & | g ot fag Fivw 5
Tg GHHIT BT & |

Find the area of that triangle whose vertices are (-3, —2), (5, =2) and (5, 4). Also prove

that it is a right angle triangle.

30. Tog FINT o U BgST & U 5T &% 757 o5 § gl Tl o o TR @il T8 3@n et
ST ol FHIGHIST el ¢ |

Prove that a line drawn through the mid-point of one side of a triangle parallel to second

side bisects the third side.

JFuar/OR

PQRS % ¥reis & f5@8 PQ || RS € T7 39 [l WER fog O W Uid=sg & & | 195

PO RO
T 50 Q0 = SO’

PQRS is a trapezium in which PQ Il RS and its diagonals intersect each at the point O.

PO RO

Prove that, —~ "Q0=S 0’
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